Correction maths CE2
26€ 50 < 34€ < 34€ 50 < 35€20
32€95 < 34€ 29 < 34€ 94 < 35€ < 40€
29c < 75 c < 95c < 1€ 45 < 1€ 50 < 1€ 75 < 2€ < 2€ 50

9 mm < 5cm 7mm < 7cm 5mm < 8 cm < 55 cm <56cm 2mm< 56 cm 8 mm
22cm 20 mm < 23cm 15mm< 23cm 40mm<24cm 5mm<25cm2mm
350 m < 840 m < 1km < 1km 250 m < 1km 290 m  < 2km 500 m

2cm 7mm + 3cm 7mm = 5cm 14 mm
   1
   2cm 7 mm
+ 3cm 7 mm
_________
   6 cm 4 mm

2km 600 m + 3km 500 m + 1km 900 m = 8km

3€ 00 – 2 € 60 = 40 c

[bookmark: _GoBack]30 € 00 – 24 € 75 = 5 € 25 c


